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14 Eil SH3ELIO0OA LI ENLSM3ELI2H31H
g = 225, 000ke
H OB — B %
H O ¥ & 4 RAE4%E (Bm) i B
1 IR AL RT3 P 5 5. 0H, ke
2 R A sk T R
M 04 EskEatt
3 5. 0 k
ST M/ ke
4 G P R A 18. 0M, ke
5 HRESHET N4 )E 5. 0H, ke
V=T 7 A RSt
6 T 10. 0 ke
7 RS RTE 17. 60M, ke
MRSt E -1 »
8 % B
i ST ek
MRS v T ‘
9 20. 0 k wE
S S o B o ke |k
10 | KRSt FEER 18. 5M ke
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14 Ei SH3ELIO0A 1L ENLLSM3ELI2H31H
g = 30, 200ke
B HE — B K
B HE ¥ & 4 RAE4%E (Bm) i =z
1 KR AR P s 40. O0M,/ ke
2 PR R e TR 44. 8M ke
M 04 EskEatt
3 42. 5 k
ST M/ ke
4 G P R A 42. 0M,/ ke
5 HRESHET N4 )E 30. 0, ke
T V=T 7 A A RSt
6 T 35. 0M,/ ke
7 RS RTE 45. 21M,/ ke
MRSt E -1
8 N 45. 0 k
T M/ ke
MRty v
9 45. 0 k
LS A B O M/ ke
10 | A TEER 45. 5M, kg S
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1 FR AR ps 15 61. 0M, ke E
2 PR s Ta% 1. O, ke
M 04 Bkt
3 1. 0 k
ST M/ ke
4 G P R A 58. 0M, ke
5 HRESHET N4 )E 1. OM, ke
T V=T 7 A A RSt
6 T 58. 0M,/ ke
7 IR AR 4R 50. 0, ke
8 RS K 1. OM, ke
MRSt E -1
9 v SR
R S ek
MRS v T
10 52. 0 k
NI S 4 TR ke
11 | ESHETEER 52. 0M, ke
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1 KR AR P s 146. 0M, ke TE
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M 04 EskEatt
3 10. 0 k
ST M/ ke
4 G P R A 141. O0M ke
5 HRESHET N4 )E 40. O0M,/ ke
T V=T 7 A A RSt
6 ST 140. OM ke
7 H RS A R4 B 125. 0M ke
8 RSP 118. 03 ke
R ESHRoF 721
9 o 135. 0 k
i M/ ke
RS v T
10 - B 132. 0 k
LA o T 5 M/ ke
11 | RS TEER 140. O0M ke
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1 KR AR P s 261. 0M, ke
2 R A sk T 282. 7TM, ke e E
M 04 EskEatt
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ST M/ ke
4 G P R A 258. 0, ke
5 HRESHET N4 )E 250. 0, ke
T V=T 7 A A RSt
6 ST 240. 0M, ke
7 A RS AT AR 4 8, 235. 0, ke
8 RS KEE 260. 04, ke
MRSt E -1
9 B 200. O k
T M/ ke
MRty v
10 235. 0 k
LS A B O M/ ke
11 | KRSt TEER 273. 0,/ kg
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B HE — B K
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1 KR AR P s 51. 0, ke
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M 04 EskEatt
3 25. 0 k
ST M/ ke
4 G P R A 49. 0M,/ ke
5 HRESHET N4 30. 0, ke
V=T 7 F A RS
6 S ETE 45. 0M ke
7 A RS AT AR 4 8, 40. O0M,/ ke
8 RS RTE 6 3. 03 ke
MRS E 2T
9 o 40. 0 k
i 2T M/ ke
5 BN A i il
10 - 32. 0 k
N S M/ ke
11 | S T EER 105. 0 ke S




